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decm7mm — 5mm
(2)

| 5cm9mm — 9cm
(3)

Bemb5mm + Imm
(4)

decm7mm + 2mm
(5)

2cm + 4cm8mm
(6)

3cmZ2mm + 2cm
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| Ocm&8mm — 3cm
(3)

2mm + 1 Ocmémm
(9)

| 7cm&8mm — 6mm
(10)

5cmb5mm — 3cm
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5cm7mm + 6cm
(12)

5cm + 10Ocm2mm
(13)

| 3cm9mm — 3mm
(14)

dcmbmm — 2mm
(15)

6cm + 7cmZ2mm
(16)

| mm + 7cm2Z2mm
(1'7)

| mm + 2cm38mm
(13)

decm9mm — 7mm
(19)

decmIimm — lcm
(20)

| Ocm7mm + 7cm
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q(l:)m'7mm —b5mm = 9cmZ2Zmm (5|c|)m'7mm + 6cm =|lcm7mm
I(25)cm‘7mm —9cm = 6cmY9mm (SI?m + 10cmZ2mm =|5cmZ2mm
éi)mSmm + Imm = 5cm6émm (Ilg)chmm — 3mm = | 3cmémm
q(i)m'7mm + 2mm = 9cmY9mm Sé)mSmm —2mm = 9cm3mm
Z(SC)m + 4cm8mm = 6cm38mm (6|<5:)m + 7cmZ2mm = 1|3cmZ2mm
Z%(Z)mme + 2cm = 5cmZmm (Ilfn)m + 7cm2mm = 7cm3mm
I(Z))cm8mm —3cm = 7cm&mm (I|r7n)m + 2cm8mm = 2cmY9mm
Z(fr)lm + 10cmomm = | 0cm38mm (qli)mCImm — 7mm = 9cmZmm
I(?7)cm8mm —6mm = |7cmZ2mm (qlz)m Imm — lcm = 8cm|mm
(10) (20)

5cmbmm — 3cm = Z2cmbmm |Ocm7mm + 7cm = 1[7cm7mm
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